1. KanenaapHbiin yyebHbIi rpachuk
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2. CBOAHbIE JaHHble
Kypc 1 Kypc 2 Kypc 3 Kypc 4 Kypc 5 i
ceM. 1| cem. 2 | Beero | cem. 1 [ cem. 2 | Beero | cem. 1 | cem. 2 | Beero | cem. 1 | cem. 2 | Beero ceMm. 1 | cem. 2 | Becero
Teopetnyeckoe obyuyeHne 18 18 36 18 17 35 18 18 36 18 18 36 18 11 29 | 172
D |DK3aMeHaLMOHHbIE ceccum 2 2 4 |223| 2 |42/3| 2 2 4 2 2 4 2 2 4 |202/3
Y [YuebHas npaktuka 22/3|22/3 4 4 62/3
M |MpousBoacTBeHHas npakTuka 31/3 |31/3 31/3|31/3 4 4 1102/3
A |AvnnomHble paboTbl MK NpoeKTbI 6 6 6
K |KaHukynb! 2 [713]91/3|113| 7 |81/3| 2 |623|82/3| 2 |623|82/3] 2 8 10 | 45
WUroro 22 30 ] 52 | 22 | 30 | 52 | 2 30 52 | 2 i 30 | 52 | 2 31 53 | 261
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